
Unit 3.1 Worksheet Answers 
 

1.  YES, linear scale factor = 
9

2
  , Answers vary, example similarity statement →  𝑇𝑆𝑈~𝐿𝐾𝑀 

2.  NO 

3.  YES, linear scale factor = 
2

1
  , Answers vary, example similarity statement →  𝑅𝑆𝑇𝑈~𝑊𝑋𝑌𝑍 

4.    

a. Scale factor =
5

2
 

b. 𝑥 = 27.5, 𝑦 = 12, 𝑧 = 65° 
5.  𝑥 = 13.5 
6.  𝑥 = 9 

7.  𝑋𝑌̅̅ ̅̅ =
64

9
 

8.  𝑌𝑍̅̅̅̅ =
48

5
 

9.  𝐶 𝑎𝑛𝑑 𝐷 
10.  𝐴, 𝐷 𝑎𝑛𝑑 𝐸 
11.  Answers may vary 
12.  Answers may vary 
13.  𝑥 = 4 so 𝑆𝑇̅̅̅̅ = 8 or 𝑥 = 8 so 𝑆𝑇̅̅̅̅ = 28 
14.  𝑥 = 15 𝑠𝑜 𝐸𝑃̅̅ ̅̅ = 9 
15. 6 

 
 


